{Vie,1,1,1 VM3 VPy + V(1,0,1,1) VM3 VP4,

Vie,1,1,1} VM1 VP3 + Vi1, 0,1,1} VM1 VP3,

Vie,1,1,1} VM1 VP3 + V(1 0,1,1} VM1 VP3,

Vi1,1,0,1} VM2 VPy — Vyp,1,1,1) VM3 VPy +
Vi1,1,8,1} VM1 VP; = Vip,1,1,1}3 VM1 VP3, Vi1,1,1,0} VM2 VP +
Vie,1,1,1} VM3 VPy + Vi1,1,1,0} VM1 VP, + Vig,1,1,1} VM1 VP3,

-Vi1,1,0,1} VM2 VPy = Vi1 0,1,1} VM3 VPy — Vy1,1,0,13 VM1 VP, —
Vi1,0,1,1) VM1 VP3, —V(1,1,1,0} VM2 VP1 + V(1 0,1,1} VM3 VP; —
Vi1,1,1,0} VM1 VP, + Vi1,0,1,1}3 VM1 VP3, Vi1,1,0,1} VM2 VP +
Vi1,1,1,0) VM2 VP1 + V(1,1,0,1} VM1 VP, + V(1,1,1,8} VM1 VP, }



